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U rain =V, +¢ = dl(%gﬁéﬁﬁﬁﬁ) + f; (ﬂ’(jé) + gl(%‘l\é) +b +¢
Ups =V, +¢, =d, (FTERERE]) + f,(BF2) + 9,(F 1) +b, + &,
Upe =V, +e&, = d, () b, +e,
Ubicycle =V, +¢&, = dl(}%gH#Fﬁﬁ) + g1(%'l\$) +b, +&,
Upa  =Vs + & = d, (FTEERFRE) + 0, (1) + &
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FEEH%FEJ téoﬁ:‘] -6.98 -16.3

-3.19 -18.83
# F[1000M] -0.019 -0.57 0.01 0.53
BiEF=—(85E) -0.36 -1.13 -1.32 -6.92
BEHAI—U\R) —2.47 -5.01 -0.35 -1.14
EMA=—(BFE) -094 -3.35 -1.10 -6.46
BSI—(EHIRE)  -1.67 -6.01 -0.81 ~4.82
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TEHIE (8%38) -1.353
EHIE(R) -0.175
EHCH (EE)EH) -1.075
EHCA (BERH) 0.476
T E R el -3.878
= 9:¢ -1.975
BHI=I—(8E) 1.136
BHAI—(1\R) -3.590
BHFI—(BEH) 0.021
BHFsI—(8ERH) -2.512
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